RESOLUTION NO. 102-12-17

A RESOLUTION OF THE TOWN COMMISSION OF THE TOWN OF LAKE PARK, FLORIDA, AUTHORIZING AND DIRECTING THE MAYOR TO EXECUTE A CHANGE ORDER WITH FLYING SCOT, INC. TO PROVIDE ADDITIONAL SIDEWALK REPLACEMENTS; AND PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, the Town of Lake Park, Florida ("Town") is a municipal corporation of the State of Florida with such power and authority as has been conferred upon it by the Florida Constitution and Chapter 166, Florida Statutes; and

WHEREAS, the Town is empowered to enter into contractual arrangements with public agencies, private corporations or other persons; and

WHEREAS, the Town has previously determined that there is a need for the provision of concrete sidewalk repairs at various locations across the Town; and

WHEREAS, the Town solicited via an Invitation to Bid (ITB) for responsible and responsive contractors to provide for such sidewalk replacements; and

WHEREAS, the Town received bids on August 9, 2017 in response to its solicitation; and

WHEREAS, the Town formed an evaluation committee to review the bids and to select the lowest responsive and responsible bidder with which to execute a sidewalk replacement contract; and

WHEREAS, on August 31, 2017, the evaluation committee selected Flying Scot Inc. as the lowest responsive and responsible bidder and determined that the Contractor is qualified and able to provide the services solicited; and

WHEREAS, on September 20, 2017 the Town executed a contract with Flying Scot, Inc. to provide sidewalk replacements; and

WHEREAS, a need for additional sidewalk replacements has been identified and Flying Scot, Inc. has agreed to provide such replacements at the unit pricing of the contract as executed on September 20, 2017; and

WHEREAS, Flying Scot, Inc. will not charge additional fees for mobilization or pedestrian safety because the contractor is already mobilized; and

WHEREAS, Town Manager has recommended to the Town Commission, that it is in the best interest of the Town to execute a change order with Flying Scot, Inc. to repair the additional sidewalks per the contractual unit pricing.

NOW THEREFORE, BE IT RESOLVED BY THE TOWN COMMISSION OF THE TOWN OF LAKE PARK, FLORIDA, AS FOLLOWS:

Section 1. The foregoing recitals are incorporated herein.

Section 2. The change order for Flying Scot Inc. is hereby approved by the Town Commission of the Town of Lake Park to provide sidewalk replacement services as needed by the Town. The Mayor is hereby authorized and directed to execute the change order between the Town and Flying Scot Inc., which is attached hereto and incorporated herein as Exhibit A.

Section 3. This Resolution shall take effect upon execution.

The foregoing Resolution was offered by Vice Mayor	Glas-Cas	etro,		
who moved its adoption. The motion was seconded by Commissioner Michael				
and upon being put to a roll call vote, the vote was as follows:				
MANOR MICHAEL OPOURIZE	AYE	NAY		
MAYOR MICHAEL O'ROURKE		s 		
VICE-MAYOR KIMBERLY GLAS-CASTRO		3		
COMMISSIONER ERIN FLAHERTY		·		
COMMISSIONER ANNE LYNCH	/	rr		
COMMISSIONER ROGER MICHAUD		(1 6		
The Town Commission thereupon declared the foregoing Resolution NO. 102-12-17				
duly passed and adopted this 20 day of be comber, 2017.				
BY:	BY: MICHAEL O'ROURKE MAYOR			
ATTEST:	WW X I OZC			
VIVIAN MENDEZ TOWN CLERK F LAKE Approved as to form	m and legal suffi	iciency:		
(TOWN SEASE)AL ₹ ^(ORIDA THO	Zan Do OMAŞ L BAIRE	3/		

Flying Scot, Inc.

11924 W. Forest Hill Blvd. 10A-386 Wellington, FL 33414 US (561) 966-0089 shawn@flyingscotinc.com

FLYING SCOT

\$28,143.13

ESTIMATE

ADDRESS

Town of Lake Park 535 Park Avenue Florida Attn: Mr. Scherle Lake Park, FL 33403 **ESTIMATE** # 1210 **DATE** 12/04/2017

ACTIVITY	QTY	RATE	AMOUNT
Sidewalk replacement extension to current contract per work out sheet dated 12-4-2017			
REMOVE 4" CONCRETE REMOVE 4" CONCRETE SIDEWALK	1,385.40	2.00	2,770.80
FORM AND POUR 4" FORM AND POUR 4" CONCRETE SIDEWALK	1,385.40	6.50	9,005.10
REMOVE 6" CONCRETE/ASPHALT REMOVE 6" CONCRETE SIDEWALK/DRIVEWAY APRON	1,472.95	3.00	4,418.85
FORM/FINISH FLATWORK 6" FORM AND FINISH 6" SIDEWALK/DRIVEWAY APRON	1,472.95	7.50	11,047.13
REMOVAL REMOVAL ONLY AT APPROXIMATELY 8"	72.10	4.00	288.40
FORM AND FINISH SLAB FORM AND FINISH 8" CONCRETE	72.10	8.50	612.85

Accepted By

Accepted Date

TOTAL